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A 7 AWIEA  (09) 7,771 — (10) 7473 — (11) 9,748ha(30.4%)

* ABBED SOIA(SSLSKESAL 118, 43)
CRIFHIE ¢ ('08) 410 — ('09) 381 — ('10) 10092 /kg(6282, 164.8%)
(R 2 (08) 391 — ('09) 339 — ('10) 1,1509!/kg(8112, 239.2%)

T HlF &o] A= Al7|e Fo B wolAl= A7l AAS
Aok Mg 71 5 71deldo] Fol UM S ddl His)
A F7ste] @A (10a)F ko] 47 24.8%, 161% S 7t

% Z(HIONHIIQ DIataE(9~112, JI4E)

[ < & : ('09) 157.9 — ('10) 315.1 — ('11) 241.5mm
2202 1 ('09) 14.8 — ('10) 14.6 — ('11) 15.8C

& H F :(109)2,904 — ('10)2,513 — ('11)3,1099/%7 1| (&MEH] 23.7%)
Bt2) @ ('09)1,040 — ("10)833 — ('10)1,018g/IM (MEH| 22.2%)



<L

n0

e

=d
0

OF
K-

KO

nd

R D~ LO
L
_Jﬁ_ LO Te)
— _mw W.
| R IS
- i
o
20 ) o o
= _Eza XD IN
—  <f
- i
o X ©
._Am_w S8
a0
< | - X D
0| — N N
m D~
00
< 50
o P n o
= N &
R 0o O
X o
Ll <
n0 Q\l 13p)
& | Ko
8|~ DN
~— D~ o)}
=] i
pu | -
= <
Klo|ls 1 W
— |'K N D~
i
N oa-
-,
—~ X
_.AO
NN

= Aoz yet

E z1x]s

= AA ARl 50.1%

2337129 =olH, ]

Ao

Aol

=9

o vEyten, 49 3
Ao Ao e

2~
o

=
=

60.6%

455

nk
m___

s

]

I

160

30 33
11
[}

Taw

12

115

£50

1882

173

£33

109

127

P

134
23

400

200

200

100

o

H =

X0

I
Fa

30

Ed

1

Ed

il
K

I
___"_._.._

=

ofd
0

a7l




ot
0,
>

FeFo A o] 105X ERT 22.8% =713 129K E Q)

) A

g 34

O Auid 2 o] 77,84%has Hd o] 71,422hacll HIS] 9.0% =718t

- Adsl I 7 e e AS7NE TR AR Al Sl 719
* 2 ZHIIA(SHMERESTAL 10~112, IAUE, 4E)

: ('08) 133 — ('09) 129 — ('10) 205’&'%/35kg( 6& &, 58.9%)

O 9H(10a)F AT 166kgo 2 Hd9] 147kg R} 12.9% 57t

- I F ANIA(6-8Y) T AE 2SS Fs oY, nERy
A771%1 84 dke ~ 949 7HA9] ZPdeizdo] Fof @eHH(10a)F At

% 6~8F ZR(OIAH) 1 ('09) 934.2 — ('10) 1,081.2 — ('11) 1,209.7mm

s NEe| MEI|(8E St=~93) JlaatE
-4 2 & (09 824 — ('10) 387.1 — ('11) 89.5mm
- LXZAIRE: ('09) 249.6 — ('10) 195.1

— ('11) 228.8AI2¢
< B AakE >
A uf H 3 10273 A4+ CN
0 | 11 | FRE | 10 11 | FRE| 10 | 11 | BEE
%tha % kg % HE %
714| 778 9.0 147 166| 129| 1053| 1294| 228




3. A4}, v

SRR

O e Lol

]
i
fo
g
iy

2o 380HEC T A

s 7kl Bl wA @45, a50] HgEe] '05d
o1F S7HI A 11l 40% SRR

752 — ('10) 4,01

8& /kg
,254 — ('10) 2,335& /kg

10a)% Aateko] 207% zradhe], WA Aabgke AR o)

$ 22 QT 6-89 Aole] e FSE PAAE
W, ATY 998, 948 5o W sa7t 37}

¥ Lol 2 X == Hl=

-& A
==
H

of :

(09)18.1 — ("10)46.1 — ('11)67.5%

1 (’09)4.0 — ("10)18.3 — ('11)25.8%

(09)3.0 — ("10)12.3 — ('11)30.8%

Ju) S 291HEC T AP 308HE BT} 56% A

Y
folr
2
lo
!
=
O{H
FH

gz Yt 7

HeIH A (10a)F Aot &2F S7H0.8%)3FA o

18 Zdsfol] B &)



ato] HA A ddel el 5.6% A4

a5l HT} e A3 5 Baleae] dAso Auwuo] 64% i

< Abdt, B d&E >

R IR
‘10 | ‘11 |=#E| ‘10 | ‘11 |sE | ‘10 | ‘11 | s3&E
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AL 2 206 214 40| 2,236 1,774 -20.7] 460.3| 379.5| -17.5
ngkE 23 310 312 06| 1485 1218 -18.0] (460.3)| (379.5)| (-17.5)
Hj 14.8| 13.8| -6.4| 2,0384| 2,100 0.8 307.8| 290.5, -56
mEkE EgH 162 151 71| 1,896 1,926 16| (307.8)| (290.5)| (-5.6)
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(1) A=

A w | A 102 A 2H=F A Al

10 11 |S3ZE| 10 11 |S3E| 10 11 |S3E

ha % kg % = %

A= 13,540 17,326/ 28.0( 8,773(10,948| 24.8|1,187,840/1,896,828| 59.7
A& 8 15|  87.5] 8,358| 10,458 25.1 669 1,569 134.5
At 115 150, 30.4{ 10,440( 15,778 51.1| 12,005 23,667 97.1
o ++ 129 125 -3.1f 7,167/ 11,232 56.7] 9,245/ 14,040 519
Q1A 170 211 24.1] 6,243| 11,449 83.4| 10,613 24,158 127.6
3 58 95/  63.8/10,100( 12,316] 21.9 5858 11,7000  99.7
o 59 91| 54.21 7,069 10,913 544 4171 9,931 138.1
2 Ak 148 172 162 8,294| 11,783 42.1| 12276] 20,267] 65.1
74 7] 1,841 2,228  21.0] 8,358 10,458 25.1| 153,864 233,010 51.4
ARl 800 1,150] 43.8| 7,035 9,495 350 56,284| 109,193] 94.0
=5 1,401 2,075 481 7,055 8530, 20.9] 98836/ 176,995  79.1
= 2,058 2,401 16.7] 8877 10,410, 17.3] 182,698 249,951 36.8
A5 1,485 1,805 21.5| 9,628| 10,298 7.0] 142969 185,880  30.0
K= 2,052 3,605  41.31 10,572 12,986 22.8] 269,796| 468,140, 73.5
A 1,458 1,725  18.3| 7,824 11,427 46.1| 114,068 197,115 72.8
A 1,082 1,382  27.7] 9,016/ 11,566] 283 97,556| 159,840, 63.8
A 5= 176 96| -455 9,621|11,844, 23.1] 16933 11,370] -32.9




71 igrl'j_
A u) HH 10ad A 4+ =F A A
10 11 |[E4E| 10 | 11 E=ZE| 10 11 |S3E
ha % kg % = %

7,473 9,748 30.4( 6,333| 7,354| 16.1|/473,230) 716,854| 51.5

8 14 75.0] 4,681 6,291 344 375 881 134.9
4 00(1,275.0] 5,767 8,323| 44.3 231 4,578| 1,881.8
42 40 -4.8 4,117 7130 73.2] 1,729 2,852  65.0

184 127) -31.0] 4,337 9,644 1224 7,980 12,248, 53.5
117 154 31.6] 7,088 7,009 -04f 8293 10,871 3I1.1
17 33 94.1] 5681 7,457 31.3 966 2,461 154.8
71 63| -11.3| 6,695 8,480 274 4725 5342 13.1

0\1
(o,

o 2l 2 O{N' O{N'
v Ao v Ao

4

ol
R

N

1,339 2,016/ 50.6] 4,710, 6,291 33.6] 63,060 126,820, 101.1

318 479 90.6[ 4,308 6,270 455 13,701] 30,033 119.2

393 384 8.8| 5,162 5933| 14.9| 18,223| 22,783 25.0

1,139 1,873 644 5260 7,165 36.2| 959,916| 134,208 124.0

1,305 2,236|  71.3| 7997 1,166 2.2 99,137 173,658  75.2

1,023 1,382  35.1| 6,732| 8341 239 68870 115271 674

422 A13] -2 4,723 7,285 54.21 19,933] 30,087  50.9

263 389 479 5727 8,554 49.4] 15,062 33,275 120.9

368 90| -89.6] 10,487 12,762  21.7 91,029] 11,486 -87.4




2 & I
A H A 10238 A A F | AWEA (10aBE| A A F

ha kg = ha kg =
‘00 16,413 9,849 1,616,515 14,627 6,033 882,404
‘01 14,169 10,213 1,447,140 13,689 6,440 881,526
'02 11,293 9,557 1,079,219 11,372 6,022 684,343
03 12,596 9,183 1,156,652 11,345 5,688 645,350
‘04 13,858 10,212] 1,415,161 11,629 6,729 782,469
05 11,001 10,134 1,114,821 3,854 6,042 979,212
06 14,368 9,896 1,421,858 9,758 6,338 667,218
07 12,178 9,351 1,138,757 7,162 6,409 459,048
08 14,693 10,241 1,504,639 8,948 1,544 675,013
09 14,462 10,946| 1,582,966 1,771 8,034 624,297
10 13,540 8,773 1,187,840 7,473 6,333 473,230
11 17,326 10,948, 1,896,828 9,748 7,354 716,854
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Al v A F 10a3 A AL A A g
10 11 STE| 10 11 |S73E| 10 11 SOE
ha % kg % = %

71,422 77,849 9.0 147 166| 12.9|105,345| 129,394| 22.8

11 g -27.3] 122| 124 1.6 13 10] -23.1

37 42| 135 91, 150] 648 34 63| 85.3
282 207 -89 114 155 36.0 322 397 233
269 303 12.6 80, 107 338 215 323 50.2
173 231 33.9 143 161} 126 247 372 50.6
167 174 4.2 99 178 798 165 310 879
149 1790 20.1] 155 176] 135 231 315 364

ol
N

_

o

0\1
(o,

of
I

o 2 2 ofj
af 4o A

A

ol
b

2,

X

5,782 6,447 11.59| 147 124| -15.6] 8,482 8,015 -5.5

7,059 7,628 81| 152 160 53| 10,730 12,202  13.7

10,465 10,546 0.8 143 184 287 14,996 19451 29.7

5,644 6,235 10.5 195 150 -3.2| 8,752 9,337 6.7

4,322 6,246| 44.5] 151| 194] 285 6,543] 12118 85.2

127736) 13,563 6.5 150/ 156 4.0 19,057 21,106] 10.8

12,606 14,497 15.0f 136] 189 39.0] 17,179 27,345 59.2

5,054 5761 14.0 142| 159 120 7170 9143 275

6,666 5,732 -14.0 168| 155 7.7 11,2100 8,834 -20.7
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A H A 10a A 4+ F SR
ha kg E

'00 86,176 131 113,196
01 78,415 150 117,723
02 80,804 142 115,024
03 30,447 131 105,089
'04 85,270 163 138,570
05 105,421 174 183,338
'06 90,248 173 156,404
07 76,267 150 114,245
'08 75,242 176 132,674
'09 70,265 198 139,251
'10 71,422 147 105,345
11 77,849 166 129,394
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3. AHet, Hi A

7h A A= AR

CE

A vf A A 10a3 A AHF A A 2
10 11 |[F72E| 10 | ‘11 |=ZE| 10 11 |4 E
ha % kg % = %
A= | 20,582 21,395 40| 2,236/ 1,774| -20.7| 460,285 379,541 -17.5
PRy B} 3 3 3 3 3 ) _ _
H A 1 1 | 2,080 1,927 -7.4 21 19 95
o)+ 66 69 45 1,770, 1,527 -13.7] 1,168 1,053] -9.8
o) A 12 2| -83.3| 1,822| 1,651 -94 219 33| -84.9
AL 1 1 | 2,080 1,927 -7.4 21 19 95
77 200 199 05| 1,450 981 -32.3] 2,900 1,952 -32.7
A 104 118 13.5| 1,463| 870 -40.5| 1,522 1,027 -32.5
=3 2,752 2,793 1.5| 2,361| 1,518 -35.7| 64,973| 42,387| -34.8
=g 1,189 1,288 83 1,822 1,651 -9.4| 21664 21,271 -1.8
HE 1,133| 1,202 6.1 2,684| 2,267 -15.5 30,408 27,252 -10.4
A 174 174 -l 1,404| 1,200 -14.5| 2,443] 2,088 -14.5
A8 | 12,919 13,391 3.7 2,266 1,799 -20.6| 292,707| 240,865 -17.7
At 2031 2,157 6.2 2,080 1,927 -7.4| 42239 41,575 -1.6
A - - - - - - - - -
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@ "Hs 23
A v} A 2 10a & B A
10 11 SE 10 11 >HE

ha % = %
A= 30,992 31,167 0.6 1,485 1,218/ -18.0
A i i i} 3 ; 3
Ak 3 3 0.0 693 642 7.4
o)+ 97 90 7.2 1,204 1,170 28
ol 26 19 -26.9 - - -
BT - - - - - -
=1} 12 2 -83.3 1,822 1,651 9.4
il 1 0.0 2,080 1,927 7.4
-l 294 299 1.7 987 653  -33.8
AR 216 321 48.6 705 320 -54.6
e 4,252 4,158 22 1,528 1,019] -33.3
=g 1,632 1,648 1.0 1,327 1,291 2.7
HE 1,763 1,835 4.1 1,725 1,485 -13.9
A 285 292 2.5 857 715  -16.6
AE 19,543 19,470 -04 1,498 1,237 -174
A 2,868 3,029 5.6 1,473 1,373 -6.8
A - - - - - -
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L v A= YA

1) 475 ANZF

ot

A HH H 10ad B A+ =F A A =

10 11 | F72E| '10 11 |SZE| 10 11 |F3E

ha % kg % = %

A= | 14,772] 13,831 -6.4) 2,084 2,100 0.8 307,820| 290,494 -5.6
e ] ; ] ] _ _ ] ] _
A 56 16| -71.4| 645 1,924| 198.3 361 308 -14.7
o - - 6 50.00 2,015 2,320] 15.1 81 139 71.6
QAN 123 109 -11.4] 969, 952 -1.8 1,192 1,038 -12.9
3 62 49| -21.0[ 651 1,119 719 404 548 35.6
o 99 700 -29.3] 1,260[ 1,939 539 1,247 1,357 8.8
=4k 721 719 -031 1,924 1,636/ -15.00 13,874 11,761 -15.2
7] 2,646 2,612 -1.31 1,909] 2,079 8.9 50,505 54,304 7.5
AR 174 150, -13.8] 1,207 1,260 4.4 2,100 1,890 -10.0
=5 605 576 -4.8| 2,883 2,643] -83| 17,439 15,222 -12.7
> 2,580 2,459 -4.7) 2,377) 2,25 -10.6] 61,317 52,255 -14.8
A& 670 637 -49 2,151 2,256 49| 14,415 14,373 -0.3
A 3,950 3,545 -10.3] 2,184 2,118 -3.0[ 86,254 75,069 -13.0
A& 1,795 1,705 -5.01 2,015 2,320f 15.1] 36,167 39,548 9.3
o hsy 1,279 1,171 -8.4( 1,743] 1,924 10.4| 22,290, 22,534 1.1
A 5= 8 7 <1251 2,184| 2,118 -3.0 175 148 -154
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(@) s £
A v} @ 2 10a & A2t
10 11 SE 10 11 SHE

ha % = %
A= 16,239 15,081 7.1 1,896 1,926 1.6
X 2 3 50.0 - - -
Ak 59 23 -61.0 612 1,339 118.8
o)+ 31 10 -67.7 260 1,392 4354
ol 258 238 7.8 462 436 5.6
T 64 51 -20.3 631 1,075 70.4
o) A 127 94 -26.0 982 1,444 47.0
AL 840 783 -6.8 1,652 1,502 9.1
-l 3,026 2,991 1.2 1,669 1,816 8.8
AR 218 161 -26.1 963 1,174 21.9
=3 712 647 9.1 2,449 2,353 3.9
=g 2,786 2,668 42 2,201 1,959 -11.0
e 722 681 5.7 1,997 2111 5.7
A 4,079 3,672 -10.0 2115 2,044 34
HE 1,995 1,849 7.3 1,813 2,139 18.0
A 1,312 1,203 -8.3 1,699 1,878 10.5
A F 8 7 125 2,184 2,118 -3.0
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GE
Ab 3 Hj
A E A 10a9BLEF| A A F | A HEE 1028 A A F

ha kg = ha kg =
00 21,259 2,300 488,960 13,314 2,435 324,166
01 19,186 2,104 403,583 14,782 2,822 417,160
02 18,533 2,337 433,165 17,096 2,260 386,348
03 17,933 2,037 365,354 17,541 1,805 316,568
04 16,889 2,115 357,180 17,385 2,599 451,861
05 16,379 2,244 367,517 17,101 2,592 443,265
06 17,888 2,279 407,621 17,481 2,468 431,464
07 18,796 2,318 435,686 17,519 2,668 467,426
08 18,534 2,541 470,865 16,583 2,839 470,745
09 19,179 2,578 494,491 15,253 2,743| 418,368
10 20,582 2,236 460,285 14,772 2,084, 307,820
11 21,395 1,774 379,541 13,831 2,100, 290,494
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@ w5 3
A w o]

A A 1R A A | A A 1R A A
ha kg = ha kg =
00 29,063 1,682 488,960 26,206 1,237 324,166
01 26,328 1,533 403,583 25,535 1,634 417,160
02 26,163 1,656 433,165 25,387 1,522 386,348
03 26,398 1,384 365,354 24,061 1,316 316,568
04 26,676 1,339 357,180 22,982 1,966 451,861
05 26,907 1,366 367,517 21,807 2,033] 443,265
"06 28,312 1,440 407,621 20,656 2,089 431,464
07 29,358 1,484 435,686 19,888 2,350, 467,426
"08 30,006 1,569 470,865 18,277 2,576| 470,745
09 30,451 1,624 494 491 17,090 2,448 418,368
10 30,992 1,485 460,285 16,239 1,896/ 307,820
11 31,167 1,218 379,541 15,081 1,926/ 290,494
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